=] =1 v AR 2016$FE 20156EE
ﬁ.ﬁ FEEER AEMZT A 166.21 135.73

ERSERIEE SR AEM1ZT B 161.45 131.38

B ARSI SR AEMZT C 27.29 24.85
RS ENETE EVAEZ S D 107.21 92.98
ﬁkﬁmiiﬁi%iﬁi EVAEZ S E 105.93 92.01

BRI ERIEEE -OEM Bk F 90.71 77.51

ERSEIIEHEE -ARG Bk G 15.22 14.50
ERESERETE EVAEZ S H 11.90 10.62
ﬁkﬁmiiﬁi%iﬁz REE I=E/4*100 2,648.25 2,300.25

EESEIEEE -OEM BEeE J=F/4*100 2,267.75 1,937.75

EIESEINIEEE -ARG BEeE K=G/4*100 380.50 362.50
ERESEIEEERM ARMIT/EE  1=B/1*10000 609.66 571.14
ERESESERIE A =8 EVAEZ S M 123.92 112.90
FrRERIFER N=D/M 86.52% 82.36%
LIKSETTE sk} 0 9,497.6569  9,078.0583

FESETE sk=) P 2,811.8794  2,450.3326
BINREFE sk=) 0=0-P 6,685.7775  6,627.7257
LEKSFHE sk} R 9,385.6388  8,968.4608
FESEHEE sk=) S 2,802.8175  2,466.1602
BINSEHEE sk=) T=R-S 6,582.8213  6,502.3006
2B 5H%E-0EM U=I/R 23.88% 21.35%
FEfHE-0EM V=I/8 64.25% 64.18%
B =R -0EM W=X/T 12.59% 10.98%
EREENEREE N a 106.75 87.96
ERSEFEENEE REE b=a/(a+d/110%)*1 1,806.58 1,572.62
EESEFEERNEESEMN ARM/BE ¢ 590.88 559.32
RS EIEEINER ST N d 54.71 44.77
ERESEIESINEREE BRE e=I-b 841.67 727.63
ERESERIEEIMEE RN ARBT/BE f 649.97 615.25
AR Fig g 1,178.20 1,117.92
AR T h 1,149.70 1,044.00
Hfthigi> (RE=PIERMA ) F0g i 82.87
EREAEEFE F i j 211.50 265.87
FAIBEE RN AERMIT/M  k=C*100000/h 2,373.69 2,380.50
LS EREE sk} 1 128,226.96  128,226.96
FEISEREE sk=) m 16,284.45 16,284.45
BINSEIREE a1 n=l-m 111,942.51  111,942.51
2B HZE-ARG o0=K/(1*8%) 3.71% 3.53%
SIROEMISFEIRIEBNEE REE p=q+r 5,185.94
FEOEMSEHIEEIREE BRE a=3000*V 1,927.45
BINOEMISEIIE BiniEE BRE r=T*(1+10%) *45% 3,258.50
2IROEM BFrHER 201 6 FEERLLILIR s=p/]J 228.68%
2IKARGREHEEIREE BRE t 1,025.82
2BKARG BiREER 2016 FERILVILIE u=p/J 269.60%
LSS EFIEBINEE BRE v=p+t 6,211.76
%ﬂmﬂ&i&; Ehiﬁ;&x 201 GEJ‘*ﬂtlﬁimfﬂm w=v/I 234.56%

3 x=w/110% 213.24%
REAREER L -HMNERE=E ARMIZ7T 50.00
REEEERT -HNERETE BRE 400.00
ﬂe%mﬁmﬁﬂ‘ -mxdllhﬁﬁiﬁﬁﬁbl ARBR/BE ¥y 1,250.00
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